/21K

B Series

H
L \Y
L2 ;J_ S
* 1_ T
L5 'S L4 L3 L1 |
\ #ERT
Shaft dimensions
a ’_é a a
S - % S| 8| 8
SoE]
Z HO#R Lead wires *S:ZemAEAL
Air injection port
# %% MODEL ZKB1S2AA ZKB2S5AA ZKBOO5AA | ZKBO10AA ZKB020AA ZKB040AA
e R w12 (12) 2.5 (25) 5 (50) 10(100) 20 (200) 40 (400)
= S A 0.94 1.24 2.15 2.4 2.7 3.5
Capacity |[=m/H (w
ooy la:;we;g ) 225 30 51.5 57.6 64.8 84
0 = S
(75°C) | FIEBS) | 0.1 0.12 0.13 0.25 0.37 0.4
IBHEHE) Moment of inertia (kemd) | 1.34%10° 3.8*10° 9.5*10° 3.5*10" 9.15*10° 2.4*10"
iﬁzﬁugg)%g E}EETGS(;?()E 3*1 o4 5*1 04 1 *1 05 6*1 04 5*1 04 2*1 05
Af’ﬁﬂm L& (mi/min) 0.2 0.4 0.6 1.1 1.6 2.0
oweble sippage | Air volume : : : . . .
raie.with _ & W)
focetaircooing | 2026 250 380 700 1100 1900 2800
E8 Weight (ke) 5.2 9 14.5 34 53 100
R Maximum speed (t/min) 1800
HIIER Weight of powder 20 33 60 140 225 370
D1 152 182 219 276 325 395
D2 126 159.5 195 260.5 301 360
D3 (g7) 42 55 74 100 110 130
D4 64 78 100 140 150 200
5 L 131.8 155 192.4 235 274.45 336.7
- L1 29.5 43 55 64.8 69 92
= L2 98.1 108 131.3 163.5 195.85 232
R L3 15 17 30 28 30 35
<t L4 25.5 26 28 46 56 66.5
Eerior L5 14.6 15 17.3 21.5 31.85 425
dimensions | d (h7) 15 20 25 30 35 45
H 17 22 28 33 38.5 48.5
w 5 7 10 12
Y% M4*0.7P*8L | M5*0.8P*10L | M6*1P*12L M10*1.5P*20L
R 6-M6*1P*10L 6-M10*1.5P*15L 8-M12*P1.75*20L
S 1/8 1/4 3/8




(EEmSE] (REEH) s
Special features of standard torque (reference only)
500 / 50
3 €
£ 400 / 0 2
3 / k5
3 =
.g 300 // 30 %
I // ZKB020AA '§
= 200 / ! ! 20 B
/ ZKBO10AA H
100 m/ 1} 10
yd 'ZKBOOSA
50 AT 5
i ZKB2OSAM-
i ZKB1S2AA T
0 1 2 3 4 0
IR EE AT Energize current (A)
(FrEsTHEERE TIERSIE (BABAR) ] (FrEFFHEERE!HNEIE (BARBAEIR) ]
Allowable sustained operating efficiencies (natural cooling) Allowable Sustained torque levels (natural cooling)
1200 / ZKBO40AA 500 0
g 1000 20
§ g 100 10
F; :g / /| 7KB020AA \
[ / 50 N 5
r—_| g’ —~ 30 \ \\\\ 3 fg
w2 / £ 2 =S AN 2 5
g 3 ZKBO10AA = \\ &1\7%‘% 2
W2 2 500 / / ' B \\\e\ @0@7&‘\ v B
Kog = O =
5 ] ZKB-5KG_ | 5 %) e,i%%]\ §\
= N 105
< / =S NN
800 v —H zkB2ssAA 8 NN\ 03
= 2 0.2
20 = ZKB1ISZAA \
100 - 1 \\ 0.1
= 05 008
0 500 1000 1500 2000 10 50 100 200 300 500 1000 2000

AJIBEESEE Input speed (r/min) AJIEEEEE Input speed (/min)



	ZKB
	#final-P11-72 6

